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1. Suppose you are told that P(A) = 0.4, P(B) = 0.3, and P(A n B)=0. It follows that
A and B are: ‘

(A.) Independent but not mutually exclusive. :

(B.) Mutually exclusive but not independent.

(C.) Neither mutually exclusive nor independent.

(D.) Both mutually exclusive and independent,

2. Iftwo events are not mutually exclusive, then the probability that at least one of

the events will occur equals:

(A.) The sum of the probabilities that each will occur, -

(B.) The sum of the probabilities that each will occur minus the probability that both
will occur jointly.

(C.) The product of the probabilities that each will occur.

(D.) The difference between the probabilities of the two events.

3. Suppose that A and B are independent events, with P(A) =0.2 and P(B)=0.7. What
is the probability that neither A nor B will occur?

(A.) 0.14

(B.) 0.24

(C.) 0.90

(D.) None of the above

4. Which of the parameters associated with a binomial experiment will produce a
probability distribution with the smallest standard deviation, given that the sample
size n is the same for each situation?

(A)p=05

B)p=04

(C)p=03

D) g=038

(E) q=0.1

5. Suppose P(A)=0.2 and P(B)=0.5. If P(A|B)=0.4, then
(A.) Aand B are mutually exclusive

B.) P(A n B)=P(A)

(C) P(A n B)=0.2

(D.) A and B are independent.

(E.) None of the above

6. Which of the following does NOT characterize the setting of a binomial random
variable?
(A.) The experiment consists of two identical trials.
(B.) The trials are independent
(C.) Each trial has two possible outcomes
(D.) The chance of “success” on each trial is the same.
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7. Suppose that 25% of all subscribers to a nationally circulated business magazine
earn an income in excess of $40,000. The magazine polls 20 subscribers at
random to determine the income category into which each falls. What is the
probability that none of the 20 subscribers earn more than $40,000?

(A) 0.0032
B.) 020
(C) 05
(D) 0.05
(E) 0.25

8. The binomial distribution approaches the normal curve in shape when
(A) nincreases and p approaches 1.
-(B.) ndecreases and p approaches 0.
(C.) nincreases and p moves away from .5
(D.) ndecreases and p approaches .5
(E.) nincreases and p moves toward .5

9, Which of the following statements is true?

(A.) all parameters have sampling distributions

(B.) aparameter is a function of sample outcomes

(C.) Chance will cause a statistic to vary from sample to sample

(D.) the standard error of tlie mean will exceed the standard deviation of the
population from which the samples are drawn,

(E.) the sampling distribution of the mean has precisely the same scatter as the parent
population from which the samples were drawn.

10.Suppose that statistics T is an unbiased estimator of 8 and a sample of size n is
used to compute T. Which of the following is NECESSARILY true?

(A.) the variances of the sampling distribution of Tis o/vn

(B.) T=0

(CYE@) =T

®D.) E(T)y=6

(E.) variance (T) < variance (0)

11. If a researcher is using a 95% level of confidence in calculating a confidence
interval, )
(A.) 95% of the time the computed interval will include the sample means.
(B.) 5% of the time such interval will not include the population value.
(C.) in the long run, 95% of all sample means will fall within the interval.
(D.) 95% of the time the interval will not include the population value.

12. For a given level of confidence, if the sample size is decreased,

(A.) the probability that the interval will not include the parameter increases.

(B.) the difference between the upper limit of the interval and the lower limit of
the interval remains the same ‘ :

{(C.) the difference between the upper limit of the interval and the lower limit of
the interval increases.

(D.) the different between the upper limit of the interval and the lower limit of
the interval decrease.
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13. Which of the following statements is true about confidence intervals for a fixed
sample of size n?
(A.) if the population standard deviation is known, all 95% confidence intervals
will have the same width. '
(B.) if the population standard deviation is known, all 95% confidence intervals
will have the same midpoint and the same width.
(C.) if the population standard deviation is not known, all 95% confidence
intervals will have the same midpoint but different p widths.
(D.) if the population standard deviation is not known, all 95% confidence
intervals will have different midpoint but equal width.

14. The parameters(s) for the t-distribution is (are)
(A)pand o
(B.) variance
(C.) degree of freedom
D) x*

15. In hypothesis testing, a can be set as low as desired
(A.) by increasing the sample size.
(B.) without having any effect on .
(C.) only in very special situations, because most of the time researchers are
limited in choice by the nature of the problem.
(D.) but at the expenses of increasing risk of a Type Il error as « is decreased.

16. the relationship between o and B is that

(A.) if n remains the same, as o is increased, B decreases.

(B.) if n remains the same, as « is increased, B increases.

(C.) if « is held constant but n is increased, § will increase.

(D.) if B is held constant but n is increased, a will remain the same.

17. in the case of p-values and their usage,

(A.) the larger the p-value, the heavier is the weight of the sample evidence for
rejecting the null hypothesis. .

(B.) the smaller the p-value, the heavier is the weight of the sample evidence for
rejecting the null hypothesis.

(C.) proper analysis requires the specification of a prior to collection of the
information

(D.) proper analysis requires the specification of o and B prior to the
collection of the sample information.

18. One of the properties of the chi-square distribution:

(A.) a chi-square distribution has both negative and positive values

(B.) chi-square distribution are symmetrical

(C.) chi-square values are normally distributed

(D.) there are many chi-square distributions, one for each number of degree of
freedom. '
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19. the inferences for 6 and ¢? are based on the assumption that
(A.) the underlying population from which the sample measurements are drawn
is normal.
(B.) the underlying population sampled is t-distributed.
(C.) the underlying population sampled is F-distributed.
(D.) the underlying population sampled is chi-square distributed.

20.if %, and %, are independent normally distributed random variables, then the
distribution '

(A) %,-%, will be t-distributed.

(B.) %,-%, will be normally distributed.

(C.) x; — x, will be normally distributed.

D.) x; — x, will be t-distributed.

21. in a test of independence for a contingency table, if the chi-square value falls in
the critical region,
(A.) the null hypothesis of independence should be accepted.
(B.) the calculated chi-square value must be less than the chi-square value
associated with the Type I error.
(C.) the calculated chi-square value must be close to 0.
(D.) the null hypothesis of independence is rejected.

22. the degree of freedom associated with a contingency table possessing r rows and ¢
columns will always equal

(A.) the product of rxc.

(B.) the product of (r-1}x(c-1),

(C.) the sum of r+c.

(D.) the product of r X ¢ less the sum of r+c.

23. See the ANOVA table shown below. What is the total number of observations?

A) 7

(B.)9

cyn

D) 13

(E.) none of the above
Source df SS MS F
Treatment 2 ? ? 2
Error - ? ? 25
Total ? 325

24. There are three basic assumptions for the F-test in ANOVA to be valid, and those
assumptions are:

(A.) normality, large sample sizes, and equal group variances.

(B.) normality, independence, and equal variance.

(C.) large sample sizes, normality, and equal variances.

(D.) equal variance, large sample sizes, and independence.
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25. which of the following is NOT one of the assumptions for regression analysis:
(A.) the relationship between X and Y is lihear

(B.) E(e,)=0

(C.) zero conditional mean: E(g;|x;)=0
(D.) homoscedasticity: var(ei) =c2
(B.) E(e;x;)>0

SO EAHEE (Jk254) X RE WAL THEENAELE | REMRERAEY
FiGRERERTRRRRERSEE (R 0 2FIRZ 78 2) » tiF
Pt & B RRE R TR ZAV RN - BTSSR - HiREfnsg

BEEShER -
Source S5 df MS Nurmber of obs = 7,496
F(7, 7488) = 126.31
Model 237388.41 7 33912.63 Prob > F = 0.0000
Residual 2010460.62 7,488 268.491002 R-squared = 0.1056
Adj R-squared = 0.1048
Total 2247849.03 7,495 299.8131d6 Root MSE = 16.386
EEFAE  SE t-value sig. __95% confidence interval
WHESHEEERSH) 760 038 2005 - 000  -8.34 -6.86
=2 2 v 0.78 0.07 10.56 0.00 0.63 0.92
SEREYTES -0.01 000 -11.30  0.00 -0.01 -0.01
R (LRSS H)
AEEE 1.60 0.57 2.80 0.01 0.48 2.73
j([%.g-’é‘ ] o 4.49 064 o 6.96." _ O.OOA 3.23 5.75
EER .56 154 101 031 457 1.46
ey 033 : 0.02 1640  0.00 0.29 0.37
ERE 18.94 1.469 11.18 0.00 15.62 22,26

(1) BEEEDRESVEEATESUEE? (15)

(2) 3F#RE R-squared FYEZ - (3 57)

(3) EHMMRIE ANOVA table TLMSHIHEEGEHR 7 (343)

(4) FRERHER P —(E H BIER t-value=-20.05 B2TEIGERMAEBRER? (3
&)

(5) FEERTEHRN IR ERERENE? (35

(6) TRFLHE D =(HE BRI TR P I S Y » B AEER
N AN ABARARRNEZE - (34)

(7) SFREEEANEEEARAEEE? (35

(8) HEEF B 95% confidence interval HEFERMEE? (3 2)

) HEEEREPER RE-1.56 XBHEEE? (349)

b BT 3o




